APPC
Transforming the Displacement Graph


Set up the generic quadratic showing displacement as a function of time in Y1. Then turn off that function and place on Y2 the first derivative of the function to get the velocity vs. time plot. Then as you adjust the values of A (acceleration), B (initial velocity), and C (initial displacement) the linear function for velocity is shown. What is the meaning of the slope of the line? the y-intercept? the x-intercept?
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This can also be done to show the acceleration as a function of time plot as seen in Y3. What is the meaning of the y-intercept in Y3? What is the meaning of the slope? When will this graph exist? Have meaning?

What about Y4?
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See the possible initial settings for the parameters:
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So if I give you the plot of Y1, Y2, or Y3 with the values of A, B and C, you should be able to sketch the missing graphs below [D vs. T, V vs. T, and A vs. T]. Let’s Try it.
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